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- 1_ 3 e = 8 2 B i o e =
Ie, = 52(601(20)° + (50)%(1200) = 3.040(10°) mm 2|% %
1, = %5(201(30}3 = 0.853(10°%) am®
3
I =1 (60102013 + (-50)%(1200) = 3.040(10°) mn’
xC3 12
g = 3.040(10%) + 0.853(10°%) + 3.040(10%)
IxC - I:m * ]xCZ i IxC3 -oue y *

6.933(10%) mn* ® 6.933(10°%) ma’ Ans.

A = 20(60) + 20(80) + 20(60) = 4000 mm’

20(60)(30) + 20{80}(10) + 20(60)(30) = 88,000 mm>

Ax, =
_ 88,000 _ _
Xc = “z000 - 420 =m Y. = 60 mm (By Symmetry)
1 =L e01%(20) + (8)%(1200) = 0.4368(10°) wa"
yC1 12
1 =L 20)%0) + (-12)%(1600) = 0.2837(10°) an"
yC2 12
Igs * 1 15(60) 320) + (8)%(1200) = 0.4368(10°) mm"
6 6 6
I o= Ieq + Iycp * Tycq = 0.4368(10°) + 0.2837(10°) + 0.4368(10°)

1.1573(10%) mn® « 1.157(10°%) om” Ans.
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SOLUTION

From a free-body diagram
for bar BDF: )SDON:

v DN, = D (1.5) - 1500(3) = 0
D = 3000 N = 3000 N <

From a free-body diagram
for bar ADE:

RN D (2) - 900(4)

750(3) = 3000(1.5) = C

n

DT = 5175 N = 5176 N T
D= ﬂnf +0)" s /(3000) + (5175)7 = 5982 N & 5980 X
NS 1 11 0 - 0
an = tan oo ® 59,90 B = 5980 N 259.9 Ans.
+~+pr=nl+3oou+?50:o A, = -3750 N 2 3750 N &

+TEF =A +D - 900
y Ty 'y

= AY + 5175 - 900 = 0 A = -4275 N = 4275 N 4

Y

v )P e )7 = 8100 4 (-4278)° = 68T N s 5690

st =215 _ 0 ) °
6, = tan o5 = -131.26 K & 5690 N 2 48.7 Ans,
£ = /{E)z ' (Eyﬁ - /175017 + (-900)% = 11715 N % 1172
0, = tan”’ —igg- = -50,19° Bx1172 NS50.2° Ans.
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